Student Name: ____Answer Key_________


Pythagorean Theorem Worksheet
For each problem, you must write the answer in the free space of the first column.  As you determine each answer, label the diagram in the second column completely.  Use the third column to show your work.   For the last problem, you may need to use the back of this page or margins to show work and draw diagrams.
	Problem
	Diagram
	Work shown

	1. In the following right triangle, side a is 3 in long and side b is 4 in long.  Side c is the longest side.  How long is side c?  
                          c= 5 in

	
                     c = 5 in
a = 3 in

      b = 4 in
	a2 + b2 = c2
(3)2 + (4)2 = c2
9 + 16 = c2
25 = c2
√25 = c

5 = c

	2. In the following right triangle, side a is 36 cm long and side c is 60 cm long.  Side c is the longest side.  How long is side b?  
         b = 48 cm
	
                               c = 20 cm

a =
36 cm

                          b = 48 cm
	a2 + b2 = c2
(36)2 + b2 = (60)2
1296 + b2  = 3600
b2 = 3600 - 1296
b2  = 2304
b = √2304
b = 48

	3. In the following right triangle, the hypotenuse is 20 cm long.  Another side is 12 cm long.  How long is the remaining side?
           b = 16 cm

	 

                             c = 20 cm
a = 

12 cm

                    b = 16 cm
	a2  + b2  = c2
(12)2  + b2  = (20)2
144 + b2 = 400 

b2 = 256

b = 16 

	4. You need to cut a triangular brace to hold up a shelf.  The two sides need to be equal, and the longest side will be 20 in.  How long do the other two sides need to be? (for this problem, since a=b, you can substitute)

 
	
[image: image1]   
	a2  + b2  = c2        a=b
a2  + a2  = (20)2
2a2 = 400

a2  = 200

a = √200

a = 14.14in.     b=14.14 in.









c = 20 in
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